Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

5142 |1|3|2|4
112353 |1]4
3/1|5|5|4|5]|1 0/1]0
4|5(4(2(0]2]3 1111
5/5/2|5]1|4]3 0/1]0
0/4(2(4(4/|0)|2 MASK
5111151 |3]|1

IMAGE (SEED: 0)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

0|54 |1]2|213
410052410
214|1|5|5/01]0 0l1]0
3|5(21]2|0]1 11111
21211111121 0ol1]0
0|5|3|3|1|5]|5 MASK
0|14 |4|5|2 |4
IMAGE (SEED: 1)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 2

5/5/{0|0|5|4|4
1{3[3[3[0|2]2
415|513 |2]|1]0 1
0212|5313 1
1/0(1]0|3|5]|4 1
115|144 |5|4|4 MASK
255|014 |42
)

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1/3[(2(3|3|0]0
S|1(1]5]2|5]|2
3/]0(3|5(3|4]|4 0[1]0
0[4(3|1]0|5]|2 111
4|54 |5]2(4)|2 0|10
S|5(0|0]1|5]|2 MASK
3113|2233

IMAGE (SEED: 3)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1/10[2]0,0|2]|5
4141113 |1]1|0
1154144 |1|1 0|10
3/4(5|5]0(|3]|4 111
3/]1(2]0]5|5]|3 0|10
1153|5532 MASK
3/2(0|1]4|0]0

IMAGE (SEED: 4)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3/14|4|5[(4|51]0
2513|5021
3(13|]0|1|1|5]4 0/1]0
0/4/0|3]0|0]5 1111
1/1/5|5|1|5]|3 0ol1]0
411|5(4|5|5]|1 MASK
2|/0|0|0|1|3|0

IMAGE (SEED: 5)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

41412|1]0|3]|2
4121411442
3141|134 ]1]|4 0|10
4151210442 111
0/1(3|1|5|3]|1 0|10
3125|5334 MASK
415012313

IMAGE (SEED: 6)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1/0(3[0[3]2]0
3/]0/210|0/|2|4
0|1|3|5|3|2|5 0l1]0
oO|5/1/0|0|1]|4 1111
1/3(3[2[3]01]0 0ol1]0
1141211321 MASK
414|11]3|3|5]|4
IMAGE (SEED: 7)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1{5(0[4|0|1|5
1132212 ]1]|4
o|1|0|1|2|5|2 0l1]0
0|1|5|0|13|2|3 1111
214121351310 0ol1]0
0|5|2|1|5|3|4 MASK
5/1]2|5]0/41]0
IMAGE (SEED: 8)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

212|0|5]0|3]|5
0330|242
410(1]0]3|5|3 0/1]0
412140144 1111
2011|141 0|1]0
5/{5/0(2|2|0]2 MASK
5/0[3|0|3|5]|1

IMAGE (SEED: 9)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 10)

312(3|1(4]4]|3
0|3(1|1]5|5]|0
5132|1424 1
3045|530 1
0|0(5|1]2|5]|1 1
3/]2(0|3|5|0]1 MASK
210121413 |3]|5

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

213|512 (3|3]|1
3/3/4(0|1|0)|4
410|553 |3|0 0/1]0
0301|102 1111
2153|3232 0/1]0
1|5|5|5[4]1]1 MASK
1/10|4|2|5|2]|5

IMAGE (SEED: 11)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

2133|0021
41413[3|3[|0]2
0|5/014]0|4]2 0/1]0
2|5|/0|0|5|3|0 1111
5/5/0|2|0|1/|3 0ol1]0
040|114 |2]2 MASK
3122|104 |5]5

IMAGE (SEED: 12)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1144 |5|1]1]0
1/4/0[3|1|1]2
5(3|]0|1|0|5|4 0/1]0
41414/5|4|1]|5 1111
2141312221 0ol1]0
01414543 |4 MASK
0421|131

IMAGE (SEED: 13)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

043 |5|1]1]|4
3|/1(4|12]4|0]|1
5211|1413 |0]|3 0|10
3{]0(3|0]2|0]|1 111
5/2(5|2]3|5]|4 0|10
0|3(3|1]0|5]|3 MASK
11214304

IMAGE (SEED: 14)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

5/0(4]0|5|0]|5
415|512 (4]|1
1115|514 |1]5 0|10
3122032 111
3|5(3|2]5|5]|2 0|10
510011 |5|4|4 MASK
1/2|5]0,0|0]2

IMAGE (SEED: 15)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

212121212131
3/]0(1(2|0(|4]|1
415|1]5|4]14]0 0/1]0
2(3|1|1|1|1]|4 1111
212|3|5|1/0/|5 0ol1]0
414(3[1]0(1]|2 MASK
0/4|4|0|5|2]5

IMAGE (SEED: 16)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

314|514 |4]3
0024|131
5/5/2|5]0|4]|5 0/1]0
0/4|3|5]1|3]5 1111
3/!1|/0|5|2|5]|0 0ol1]0
414|5]0|2]0]|4 MASK
252145113

IMAGE (SEED: 17)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1321222
211]1(4|1|4)|4
5/5/1(1(4|3|1 0|10
415|5]1]|1]0]|5 1111
1141333413 0|1]0
1/10]2|5|]0|4]3 MASK
0/1(4(2|2|2]|0

IMAGE (SEED: 18)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

41413 (3|2|5]1
o(1|1|1]1|0]1
1(3[1]0[1|3]2 0l1]0
414120442 11111
3|1|5|5|4|5]|1 0/1]0
3141412101310 MASK
410|2]2]|0(2]3

IMAGE (SEED: 19)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

5/4|4|5|1|3]|5
513|112 |5|0]|1
5121115122 0l1]0
314|210 |13|01|0 1111
114|140 0]0 0ol1]0
4|5(1(1]0]3]1 MASK
0/3|3|2|0|3|3

IMAGE (SEED: 20)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

0432|144
313|102 |3]0
41111105 (4]|5 0|10
3/]0(1|12]0|5]2 1111
0/4/0|5(2|3]|2 0/1]0
2117051141 MASK
5/5(4(4|13|14]|0

IMAGE (SEED: 21)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.
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IMAGE (SEED: 22)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 23)

5/5(5|/013|2]3
0/{1(2|1]2|0]0
4123|4120 4 1
3133|5242 1
313(1]012|4]3 1
2131|1141 MASK
0/|0(0|1 3|41

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 24)

4|5|1|5]1(4|0
4104|414 |2)|5
5/]0(3|5(4|2]|1 1
5|0(4|5]0(|1]1 1
3/2|5|5]1|5]0 1
0]3[4|4|5]5]|1 MASK
415]012]0]0|2

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

2/5|5|1|5|13]0
5(1]1(2|3|0|4
41343412 0/1]0
210513032 1111
1101203 [3]0 0/1]0
5/]0(1(4 (1|23 MASK
212131210141

IMAGE (SEED: 25)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

411|1]3|0[4]|4
0/4|3|3|5|5]2
5/4|5|0|5|11]0 0l1]0
3/!5|5|2|4,0/|5 1111
1/{3/0[0|0|3]3 0ol1]0
4|5|2|5]1]5]1 MASK
512|12|3|0|0/|3

IMAGE (SEED: 26)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 27)

3/4|5(1]0(|4]|1
214|1|5]2|015
3/0|5/4/4|3]5 1
0|5|3|1|13|2|3 1
413|0(2|1(4]|5 1
41314151 MASK
5/0(4|2|3|2]1

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 28)

0|0|3|1|0|2|2
1/2|5]011]0]1
0|5|/1|5|0|5]|3 1
413|1]1]4]0]0 1
413|1(3|5|1]0 1
21112101442 MASK
2115|5311

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3125|1322
5|0(2|1]2|5]|1
312412122 0|10
4131141 ]3|1 111
2143|4433 0|10
2134|105 |2]0 MASK
0202232

IMAGE (SEED: 29)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3(]1]0|3]1|1]2
3|/5/2|5|5|11]0
0|5|{3|5[5|3]3 0/1]0
0/0(4(4|4|3 |4 1111
3/5/{0(2(1|4]|5 0|1]0
1101|1424 MASK
1{3|1(3|3|5]|5

IMAGE (SEED: 30)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

0(0|2|4|0|0]1
410|413 |0(3]2
2|5/010|5|2]|1 0l1]0
1{2|5(1|1|3|3 1111
5/5|2|1|5|5|0 0ol1]0
415131441 MASK
311|012 |12|12|3

IMAGE (SEED: 31)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

Ol1|1|5]2|41]0
3/!5|3|5|5|21|0
410|0|4|5|5]|5 0l1]0
1/]0[{0[5]0]0]0 1111
oj0|2|0|1|5]|1 0ol1]0
4141334 ]3]1 MASK
1/1]2[5[2|0]2

IMAGE (SEED: 32)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

313(4|1]3|5]|5
11333 5|32
5/3(1]1]2|0]3 0|10
412]5|5(3]4|0 111
0O|5(1|1]5|4]0 0|10
1|1(1]0|3|1]|2 MASK
1/0[{0|514|3]0

IMAGE (SEED: 33)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3/!3|5|5|5|2/|5
2|11|/0|3|0|1/|3
414|10]0|1(3]|5 0l1]0
45133111 11111
313322114 0/1]0
3/14(4|1(0|1]|5 MASK
412|1412|5]0]|4

IMAGE (SEED: 34)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3144|5153
4141511243
412504 ]12|0 0|10
410(111|0]0|0 1111
5/]0(0|0|5|3]|4 0|10
S5|12(2]2]1|3]5 MASK
3145|4430

IMAGE (SEED: 35)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

155|514 |5]0
3114121333
415|2|4]5(2|0 0|10
214(3|1]4|1]|5 111
1/3[2]5/0|5]2 0|10
2112|5553 MASK
1133|1501

IMAGE (SEED: 36)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

4103|5533
213(0|4|3]1]2
412|5|5|5]0|0 0|10
112|414 ,3|3]|3 111
0[3(1]2]0|3]|5 0|10
0[3(0|2]0|5]|4 MASK
51144 |3|5]|3

IMAGE (SEED: 37)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3124|0423
112|1]1,/4|2]|5
3/1(3|3]0|3]0 0|10
2134|5302 111
1/4/5]0(4|1|1 0|10
2121|112 |4]0 MASK
2114|114 ]0]|5

IMAGE (SEED: 38)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1121123 ]3]|1
2|1(4|1]5|0]|0
2124|5314 0|10
2(1(1|/0]4|0]|1 111
313(13|3[4|5]|5 0|10
212(0|2]1|5]|4 MASK
114140442

IMAGE (SEED: 39)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

2/5/0|1|5|13]0
2/5(2|0]5|0]3
3/2|5|1[3|0]5 0/1]0
0[3(4|5(0|5]|5 1111
1|14|1]0|0|1]|4 0|1]0
2|/5|571]2|0]3 MASK
3/3/0|13]0|5]2

IMAGE (SEED: 40)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 41)

211705343
214134 (3|5]|2
0/]0(4|1|13|3]|0 1
410|5|5|1]14]|4 1
040|514 |5]|0 1
1(/3|3|1|5|5]|1 MASK
041213 |2|2]|0

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3/]0(1|1(4|4]5
o|2|011|3|0]|1
313[1|3[4/|014 0/1]0
412052010 1111
5(3[4|4|3|5]2 0/1]0
3143|513 |14]|0 MASK
1/{1/]0]1]0|1]3

IMAGE (SEED: 42)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 43)

04|02 |4]|4]|2
2102|2534
211(5|1412|0]|3 1
2143|133 |2]0 1
O|5|(5|1]5|3]|0 1
5135|4034 MASK
5/1{3|4|1]5]|4

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

213|511 |01|0
00 |3|5[|4|2]2
411|/0[5|3]0]0 0l1]0
0|5/0|3|5|0/|2 1111
2511|104 0/1]0
412041431 MASK
413|3[3|1]2]|4

IMAGE (SEED: 44)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

1/2(0(2]0(0]1
0(1]4|0|3|0]|4
411|5[4|0]2]|4 0/1]0
5/1|1|4|5|01|0 1111
411|2]|5|4|3]|5 0ol1]0
41413[3]0|5]|5 MASK
213|023 |1|2

IMAGE (SEED: 45)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution

Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

IMAGE (SEED: 46)

5/]2(3|5]1|3]3
5/|0(0|1]4|5]|0
5/3[5|5]0|5]|2 1
0/2(0|4|3|0]|1 1
3/4(1]0]2|0]2 1
5|1(1|4]1|0]1 MASK
3/4[4|0|1]0]|3

RESULT
CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

21221213 |2]0
2/0(0]1 5|23
5/5(3|1]3|2]|5 0|10
0243|341 111
5/5(0]2]2|2]3 0|10
1/3[5|5|5]|1|4 MASK
413|4|1]4|1)|3

IMAGE (SEED: 47)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

3/]0(4|1|5|1]4
0O|5|5|/0|13|1/|3
510|100 |21|0 0l1]0
0(4|1|2|2|5]|1 1111
3/!5/3|1|0(|3]|1 0ol1]0
2141411211 MASK
2|10/010|1 3|1

IMAGE (SEED: 48)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




Worksheet on Convolution Name:

Below you will see, reading from left to right, an image, a 3 x 3 mask, and a blank ‘image’ grid of
the same size as your image. Your task is to calculate the convolution of the image with the mask,
completing the blank grid with the appropriate values. Please show your working below for the
top left-hand pixel of your image. You can use the remainder of the page for your calculations if
you wish too. Marks are awarded as shown in the table at the foot of the page.

0/2(0|4]3|0]0
4/0|4|3]3|5]|3
3121|0224 0|10
11253 |13|4]|5 111
114|013 |1]2 0|10
111234 |2]2 MASK
5/4(3|3]0|1]0

IMAGE (SEED: 49)

RESULT

CATEGORY | AVAILABLE | AWARDED
approach /12
accuracy /13
Total /25




